A&P Chapter 2 Quiz 1
1. Kinetic energy is

a. stored energy.

b. found in bonds of chemical substances.

c. the energy lost as heat.
d. the energy of position

e. the energy of motion

2. An element is defined on the basis of
a. its atomic number.

b. its number of electrons.

c. its atomic mass.

d. the energy levels its electrons occupy.

e. its number of neutrons.

3. Which of the following elements is NOT one of the four most abundant, by mass, in the human body?

a. carbon

b. nitrogen

c. calcium

d. hydrogen

e. oxygen

4. Which of the following is correct?
a. suspension + solvent  = solution

b. colloid + solvent = solution

c. colloid + solute = solution

d. solvent + solute = solution

e. solute + suspension = solution

5. Covalent bonds
a. involve the attraction between anions and cations.

b. involve the sharing of elections.

c. are the weakest type of chemical bond.

d. occur when a hydrogen atom is attracted to a more electronegative atom.

e. form salts.

6. Which of the following is an example of an anabolic reaction?

a. C6H12O6 + 6O2 ( 6CO2 + 6H2O + ATP
b. AB + C ( AC + B

c. AB ( A + C

d. A + B ( AB

e. AB + CD ( AC + BD

7. A carbohydrate consists of
a. chains of amino acids.

b. interlocking hydrocarbon rings.

c. carbon, hydrogen, and oxygen in a 1:2:1 ratio.

d. glycerol and fatty acids.

e. glycerol, fatty acid, and nitrogen.

8. In terms of hydrogen ion concentration, how much acidic is a pH of 5 than a pH of 7
a. 200

b. 100

c. 20

d. 10

e. 1000

9. The reaction by which a disaccharide is formed from two monosaccharide is called
a. dehydration synthesis

b. hydrolysis

c. decomposition

d. catabolism

e. neutralization
10. A protein consists of
a. chains of amino acids.

b. glycerol, fatty acid, and nitrogen.

c. interlocking hydrocarbon rings.

d. glycerol and fatty acids.

e. carbon, hydrogen, and oxygen in a 1:2:1 ratio.

11. Neutral fats consist of
a. glycerol, fatty acids, and nitrogen.

b. carbon, hydrogen, and oxygen in a 1:2:1 ratio.

c. interlocking hydrocarbon rings.

d. glycerol and fatty acids.

e. chains of amino acids.

12. Which of the following is an amine group?
a. –OH-
b. –H+
c. –COOH

d. –R

e. –NH2
13. Which of the following is NOT a nucleotide found in DNA?
a. guanine

b. uracil

c. cytosine

d. adenine

e. thymine

14. Which of the following RNA sequences is complementary to the DNA sequence ATCCG?
a. TUGGC
b. UAGGC

c. TAGGU

d. TAUUC

e. TAGGC

15. Atomic mass is the number of
a. neutrons + protons.

b. electrons + neutrons.

c. electrons + protons.

d. neutrons.

e. protons.
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